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2.  A cafeteria sets out 250. mL glasses of water at room temperature (25.0 oC ).  You add enough ice to cool the water to 0.0 oC.  How many grams of ice melted to do this?  

Ans:  78.5 g ice

3.  A metallurgist places a 5.65 kg heated ball of copper at 1000. oC in a container of ice at 0.0 oC to cool.  If the whole system reaches an equilibrium temperature of 87.0 oC, how many grams of ice were used?
 The specific heat of copper is 0.385 J/goC.


Ans:  2.85 kg ice

4.  Freon-113 (C2Cl3F3) has a boiling point of 47.6 oC and an heat of vaporization of 146 J/g;  the liquid has a specific heat of 0.91 J/goC.  1000. g of liquid freon at room temperature (25.0 oC) is placed in water at 95.0 oC and the freon completely vaporizes and the water changes to 52.3oC.  How many grams of water were used? 





Ans:  932 g H2O

5.  I sometimes get cuts on my fingers that get infected.  My mommy (who happens to be a doctor) told me that when you have an infection in a small cut on your finger, it helps to increase the circulation to the area, bringing more white blood cells to fight infection.  You can do this by soaking your infected area in hot water.  The maximum temperature at which your skin can tolerate is 40.0 oC.  I overheated 300. mL of water to a temperature of 90.0 OC.  If I placed 25.5 g of ice at 0.0 oC in the water, was it eventually cool enough for my hand assuming I did not lose any heat to the environment?

6.  In the previous problem, exactly how much ice would need to melt to get the water to a temperature that my skin could tolerate?

7.  A 50.0 g iron sample is heated to a temperature of 123.0 oC, then dropped into 

40.0 mL of water.  The initial temperature of the water is 98.0 oC.  Assuming no heat is lost to the surroundings, how many grams of water boil away?  The specific heat of iron is 0.451 J/goC.    









Ans:  0.081 g H2O boil







1.  To raise the temperature of 27.1 mL of ethyl alcohol from 25.0 oC to 45.0 oC requires 24.71 g of water to go from 55.0 oC to 45.0 oC.  What is the specific heat of ethyl alcohol if the density is 0.785 g/mL?	Ans:  2.43 J/goC	         						         
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